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Say Bismillah & Good luck  
  
  



  

(1) Solve the system   AXX ='   
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A .  ( i±= 4λ  are eigenvalues of A) 

 

 
 

 

 
 
  
  
  
  
  



 

(2) Solve the system   AXX ='   
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A .  (given that 2−=λ  is an eigenvalue of multiplicity 3) 

 
 

 

 



 
(3) Solve the initial value problem     

 
 

0'4''' =+ yy  
 

4)0(''  ,2)0('   ,1)0( ==−= yyy  
 

 

 



 
(4) Find a particular solution of      

 
 

xxeyyy 1633'2'' −=−+  
 

 
 

 



 
(5) Solve the differential equation      
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(6) Solve the differential equation      

 
 

01)'('' 2 =++ yy  
 

 
 

 



 
(7) Verify that   
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are linearly independent solutions of the system  AXX ='  
 

where   
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−−

−−−
=

166
296
2118

A  . Find a particular solution of the system 

satisfying the initial conditions    3)0(  ,2)0(  ,1)0( 321 === xxx  

 



 
(8)   The rank of the matrix  
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equals 
 

(a)  1 
(b)  2 
(c)  3 
(d)  4 

 

 
 
(9)   Compute the determinant  

=

16151413
1211109
8765
4321

 

 
 

(e)  -2 
(f)  -1 
(g)  0 
(h)  1 
(i)  2 

 

 
 



 

(10)   The differential equation        xeyyy −=+ 32 '3     is 

(a) Seprable (b) Linear (c) Bernoulli (e) None of the above 

 
 
 
 
 
 
 

(11)   The matrix   
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         (a) diagonalizable                                       (b) not diagonalizable 
 
 
 
 
 

(12)   The set of vectors    
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  is 

 
 
         (a) linearly independent                                     (b) linearly dependent 

 



 

(13) Let  A   be an  nn×   matrix such that  03 =A . show that  0=λ  is an 

          eigenvalue of  A . 
 

  
 

 

  


